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Question 1.Select the related word/letters/numbers from the given
alternatives:

R A Riched! & @ GafFAa Srsa/srerl/dwr ot 9T
Book:Pages::Wall:?

U&dh : U6 & EaR : ?
Options:

1) SAND

i

2) CEMENT
e

3) BRICKS
L

4) STONES
Ty

Correct Answer: BRICKS
£

Candidate Answer: BRICKS
3¢

Question 2.Select the related word/letters/numbers from the given
alternatives:

Rt T el @ W STe/areRl /a9

LNPQ : ACEF :: TUXY :?


http://thepracticetest.in/challengesystem/logout.php?appid=1a4fff78943b24af40c79deccf09bb87
http://vacancycollection.nic.in/sicpochallenge16/sendrollno.jsp?rollno=2201085922

Options:
1) IMKL

2) IKMO
3) IKMN

4) PKLR
Correct Answer: IKMN
Candidate Answer: IKMN

Question 3.Select the related word/letters/numbers from the given
alternatives:

f&d T faeneal 7 & Haf-Aa 21eg/37erRl /4T ol Al
4:20::8: 7

Options:

1) 74

2) 70

3)72

4) 78

Correct Answer: 72
Candidate Answer: 72



Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.
(A) Bud (B) Branch (C) Leaf (D) Plant

Q71 foeredt # & fauw 2reg/<wn/sier gyl
(A) el (B) e (C) T=it (D) dier

Options:

1) A

2) B
3)C
4)D

Correct Answer: D
Candidate Answer: D

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

feq 7y faereat A O fawy <rec/Twan/sier g gy
(A) ABD (B) FGI (C) LMO (D) STU



Options:
1) A

2) B
3)C
4) D

Correct Answer: D
Candidate Answer: D

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

feq 7y faereat A O faww <ree/ T/ sier/dE | IRyl
(A) 24-42 (B) 36-63 (C) 37-73 (D) 35-51

Options:

1) A

2) B
3)C
4)D

Correct Answer: D
Candidate Answer: D



Question 7.Arrange the following words as per order in the
dictionary.

fArferfa sreal <t Srecentsr o thA & TAR gafdd HifSd |
1. Manifest 2. Meticulous 3. Meridian 4. Merchant
Options:

1) 1,4,3,2

2)2,1,4,3
3)1,3,2,4

4) 2,3,4,1
Correct Answer: 1,4,3,2
Candidate Answer: 1,4,3,2

Question 8.Which one set letters when sequentially placed at the
gaps in the given letter series shall complete it?

31&R} T HI-YT THE Wiel! T TR hAAR & T &1 718 318R el Bt
ORI ST ?

M_OMMN__M_NOMMN__M

Options:

1)ONMO

2)NOM O
3)MONM

4HNNMO
Correct Answer: NO M O
Candidate Answer: NOMO



Question 9.Which number will complete the series?

fAfeaa & € 2uft @t spl9-91 ik gut ham?
14,27, 52,101,198, ?

Options:

1) 381

2) 395
3) 391

4) 394
Correct Answer: 391
Candidate Answer: 391

Question 10.M is son of P, Q is the grand-daughter of O, who is the
husband of P. How is M related to O?

M, P 1 g g, Q,0 hi Uit &, St foh P AT ufd @1 M T O & oRIT SFa=e g ?
Options:
1) Son

ke
2) Daughter

3) Mother
HIdT

4) Father
foram

Correct Answer: Son

kel

Candidate Answer: Son

kel



Question 11.Ramesh is richer than Satish but Jaya is less rich than
Ramesh. Ram is less rich than Jaya but richer than Satish, but is
not as rich as Ramesh. Ramesh is less rich than Navin. The richest
amongst them is?

THLT, Hal 9 31fereh 3R g foheg 74T, T & A THR g1 IH, 57T & hA
SR g foheg Tdizr & sifdep 3R g oifchd ag A fSia-r sk 78t g1 Ay,
T 9 A IHR g1 I8 T I 1Ak HR vl 82

Options:

1) Ramesh

THT

2) Satish

galsr

3) Navin

ECIE!

4) Jaya

oigT

Correct Answer: Navin

4=

Candidate Answer: Navin

4=

Question 12.From the given alternative words, select the word
which cannot be formed using the letters of the given word:

el fareut & 9 ag e g3 oY fT 71T 21eg & 318RT &1 TANT Shich
g1 ST ST GehdT &
CARPENTER



Options:
1) NECTAR

2) CARPET
3) PAINTER

4) REPENT
Correct Answer: PAINTER
Candidate Answer: PAINTER

Question 13.1f FRIEND is coded as HUMJTK, how can CANDLE be
written in that code?

gfe FRIEND pl fordY ehie wmem & HUMJTK forat Sirdar g at 3t arte |
CANDLE el g forar Srae 2

Options:
1) EDRIRL

2) ESJFME
3) DCQHQK

4) DEQJQM
Correct Answer: EDRIRL
Candidate Answer: EDRIRL

Question 14.1f A denotes —, C denotes %, D denotes =, E denotes +,
then 14C3A12E4D2="?

gfE A, - ol UefTd a1 8, C, x ol Ucfd eedT &, D, + ol Ucfid eedr g,
E, + ant UefTd eedr g, df 14C3A12E4D2=?



Options:
1) 6

2) 17
3) 28

4) 32
Correct Answer: 32
Candidate Answer: 32

Question 15.1f 879= 8,
625=1,

586= 9,

then 785 =7

gfg 879= 8,
625=1,
586=9 &I,
dar785=2
Options:
1) 6

2) 7
3) 8
4)9

Correct Answer: 6
Candidate Answer: 6



Question 16.Find the missing number from the given alternatives:
f&q q faehetl # T T AT A1d Shifeid |

8 7 6

7 b 5

& 5 4

90 65

Options:
1) 54

4) 26
Correct Answer: 44
Candidate Answer: 44

Question 17.Sham goes to his friend's house that is straight 10 Km
from his house. On his way back, he takes a right turn and walks 2
Km and again takes a right turn and walks for 10 Km before he takes
a right turn again. How much distance is Sham still away from his
house?

T 37U A3 oh B ST € S IGeh 0R & Hiem 10 fob.#t. R 81 arug ofted
7Y I8 3¢ Heom 2 fon. A Y. Terdn @ 3R 3¢ Hg SI7ar 8 1R 9 i He- 9
Uget dg 10 foh. |l TetdT g1 g/ 37t o} 31U R ¥ feha-il a8 ?




Options:
1) 10 Km
10 foh. .

2) 8 Km
8 fon. 4.

3) 12 Km
12 fop .

4) 2 Km
2 fop .

Correct Answer: 2 Km

2 ..

Candidate Answer: 2 Km

2 fen .

Question 18.0ne or two statements are given followed by two
conclusions, I and Il. You have to consider the statement to be true,
even if it seems to be at variance from commonly known facts. You
are to decide which of the given conclusions/assumptions can
definitely be drawn from the given statement. Indicate your answer.

Statement: All boys are tall.
Rajiv is a boy.

Conclusion I: Rajiv is tall.

Il: Rajiv is not tall.

J= ves a1 & gaden Ru v @ g o &t fAsasl/arang, | 3R 1 Rerret
T 1 31TUch! fA=IR AT & foh gadey 9 ¢ dTe 98 9H=d; J1d a2 O
O~ udta gt 811 3mueh! [ufa &1 8 foh iU 71T gamea & @ svi=-ar f[Afga
®U g gt fAsent/Ar=adT fAehTall ST 9ehdT g1 3TU4 3k aht [Afése hifsig|
YA : ] dSh o g1 St dSahl o

fArsepe: |- ISiia e B

fArsep: 11-31sita et 781 81




Options:
1) Only conclusion | follows

chael [Asny | Il gl

2) Only conclusion Il follows

chael A=y || Iat gl

3) Both conclusion | and conclusion Il follow

freeny | 3k fAserd |1 St TEt &

4) Neither conclusion I nor conclusion Il follows

1 sy | T8l 8 SR 7 Awhy ||

Correct Answer: Only conclusion | follows

chadl [Asny | Il gl

Candidate Answer: Only conclusion | follows

chadl [Ashy | Il gl

Question 19.How many triangles are there in the question figure?

f&q Qg Uy fst A fohd AT € 2

Options:
1) 6

4) 16
Correct Answer: 16
Candidate Answer: 16



Question 20.Which of the following diagrams represent the
relationship between Awards, Pulitzer Prize and Oscars?

ffeifEa # 9 oplH-91 IRE REAR, Gfelcok TRERR 3R e & i Jeiy
eifdar g ?
Options:

A
N—

Correct Answer:



Candidate Answer:

Question 21.Which answer figure will complete the pattern in the
question figure?

ohI=-Ht IR Tehid U Tehid oh Ue ehl GRT kil ?

N

A\
J)

7/,

/7
(L




Options:

1)

A

T NCRR

A\

swer.




Candidate Answer:

e
-

Question 22.From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1 713 IR ATepiadl H F IR SMTepid hl Y foiad g 3irepid g 81




Options:

1)

2)

.J_,:z_’Px‘:____

Correct_ Answer:

:Candidatle Answer:




Question 23.A piece of paper is folded and cut as shown below in the
question figures. From the given answer figures, indicate how it will
appear when opened.

U HTpiddl | fGETY TR TSI hl HISH hic dUT Wi & 916 I8
foRg IR STTepfd oraT fews & 2

[ T o 1T ol
ARRNRHRNNR [EEEEsemcecki [amcnsmseer
£ a (RERAENPRRARS [ases i
i : | I E :
2 e
Options:
1)
_ﬂ._._ _ I.i_ ib &

sh e e fe
2)

, | llb .

I: AmENEEE:

Euas
0- .I|. L ]
FHF

3)

A
NEREREEENEEN
4)

pEaie

e 8| s e

: ! . L




Correct_ Answer:

8 | & | |I .I
- - | 4 |
........ :
S
I I
11 111
' L
LANEINNEIN
EEEEINERINN

Candidate Answer:

M
- - | 4 i
........ |
A
I A I
SESsasEme
SRR TN IRT
o e [

Question 24.If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?

e Teh &UUT bl MN T UR @1 ST dl & 78 IR HAThiadl | I hiA-4t
TR U 3Tepfa dht Tt ufafaw giift 2

=

| 1//‘ 1>& |

L

S




Options:

1)
| |
il A |
= —-—A\§— Bk
2)

|
ENEEESENEEE
TSN
3)
EENEEPENENEN
BRRY/ 772\
4)

|
ENEEESWEEEE
1114 {\\\}
Correct Answer:

| _
ENEEESENEEEE
TSN
Candidate Answer:
| | |
[l & i i
TSN




Question 25.In this question, the sets of numbers given in the
alternatives are represented. The columns and rows of Matrix | are
numbered from 0 to 4 and that of Matrix Il are numbered from 5to 9.
A letter from these matrices can be represented first by its row and
next by its column, e.g., D can be represented by 04,12, etc.,and 'I
can be represented by 65, 79, etc. Similarly you have to identify the
set for the word '‘BANK'.

ek 206G thdel Yeh SAT-HHg gRT &ATA1 71 8, Wi foh faeheut & & fohdlt ger A
f&am T 8| faehed | 1T Y T Tg 31&Ri o & Ol gIRT &R0 71 8, oY
foh - feg 7Q &t srreggl A 81 31egg | o T 3R Uhl &l T 0 ¥ 4 3R
3MTE |1 Y 5 9 & 713 &1 37 STegl T Ueh 31eR i Uget ITh! U=ht 3R s
H T AT GRT SRATT ST GehdT & | I&TEX0T o ol 'D' bl 04, 12 311fE gRT
GRITAT STT HehdT g ATl ' &t 65,79 371fe gRT SATAT ST JehdT g1 38 g I
3MYeht f4T U 2rec 'BANK' & ol Tg aht Ugam=-T &

Matris-1 Matrix-11

0 1 2 3 4 3 3 7 8 9

Options:
1) 42,69,14,98

2) 00,55,33,57
3) 21,67,30,86

4) 42,78,43,58
Correct Answer: 42,69,14,98
Candidate Answer: 42,69,14,98



Question 26.Which is the heaviest metal among the following?

RrefafRd § & we-g arg 9o 9 g 2 2
Options:
1) Gold

£

2) Silver

) ——g

=

-

on

=

) Copper

E

Correct Answer: Gold

£

Candidate Answer: Iron

Sl

Question 27.Which of the following uses the spawn mechanism to
duplicate itself ?

SH ¥ oI WY hl Glelche A o folq Wi AhfAsH UATAT 8 ?
Options:

1) Trojan horse

ot g

2) Worm

au

3) Keystroke logger
hI-Tlh @R

4) Logic bomb
SISEECIES

Correct Answer: Worm

ad

Candidate Answer: Trojan horse

g g1



Question 28.Sun appears red in colour at sunrise and sunset due to

Qe ofR Guied & 99 G o 37 dTel ol fearg 3ar & 2
Options:

1) the fact that sun emits only red colour at that time
Hifch I9 THY I hdel olel T I foid hdl 8

2) red light having longer wave length scatters away
ATeT UhTRT T AT-G & 31fdeh giF oh ShiRUT HehivA Sifdes giar &
3) that sun comes out of the mountains

g4 ydal # ¥ fAcherdr 8

4) that all other colours scatter away except red

AT ohl DI H 3= ot T yhifola gt sa &

Correct Answer: that all other colours scatter away except red

AT hl B e 3T T AT YhiTuld gt SIId &

Candidate Answer: red light having longer wave length scatters away

ST UhIRT ahl aRiT-¢ed 31feleh BIF ch hIROT Uchiuie 3ifeles gidr &

Question 29.What is the main purpose of white blood corpuscles?

ok | A hUTH ShT & TSI SRIT 8 ?

Options:
1) to carry nutrients

UIYeh ded of ST

2) to combat infection

GehHUT T TUY eheAT

3) to carry oxygen

SIS o STHT

4) to give strength

*Tf<h UG heAT

Correct Answer: to combat infection
TehHUT § Y chAT

Candidate Answer: to combat infection
GehHUT T TUY heAT




Question 30.The layer where the decrease in temperature with
increasing altitude is totally absent is

a8 URd 1@l TS dg- oh ATY-T1Y JIuH H fdochel Rl w8l gidl ?
Options:

1) Troposphere

eflHee

2) lonosphere

ITHS

3) Stratosphere

HdgHS

4) Mesosphere

AHSA

Correct Answer: Stratosphere
JAdTIHS A

Candidate Answer: lonosphere
SITHSA

Question 31.At hill stations, the boiling point of water will be

A &It | STel hl a-ich RIT g ?
Options:

1) same as at sea level

Jgl Sl < dcf W gidT 8

2) less than that at sea level

YT I Il IR g1 8, 399 A

3) more than that at sea level

a1 I 9 IR 8T 8, 399 31fdeh

4) equal to the melting point of ice

gt o TTeA-Tich ch SRTER

Correct Answer: less than that at sea level

T 9= a7 R glaT1 8, 394 hH

Candidate Answer: same as at sea level
Jgl Sl < dol W gidT 8




Question 32.Gandhiji's 'Satyagraha’ meant an attachment to the
following two elements

Tiefistt o g’ w1 Refafaad 7 4 fhl & @ Jea g 2
Options:
1) Knowledge and religion

A 3R 4H
2) Truth and non-violence
T=arg ofik srfgan
3) Truth and chastity
TS 3R IERdT
4) Love of motherland and hate for colonial masters

IR % UT IR SR SrafRiRes @it 3 uf gon

Correct Ansvyer: Truth and non-violence
g=aTs 3R Srfgdr
Candidate Answer: Truth and non-violence

TS 3R Sifgar

Question 33.What do you mean by 'Density of Population'?

SIS 99’ O 31TY -] 99 & ?

Options:
1) Ratio of people living below poverty line to total population

RISl 3T I A T@A aTel ST <hT el STHEEAT I STUTd

2) Number of persons live per square kilometre

ufd et foh. At H I arel <l <hl He&T

3) Number of persons in a city
fohdt 218X & Yg+ arel <afehat ht dan
4) Number of persons living per kilometre

ufa fop.#t. &= arat cafhat 6 g

Correct Answer: Number of persons live per square kilometre

uf & fen.Ht. | Ig aret <l hl T

Candidate Answer: Number of persons live per square kilometre

ufd ot feh HY. # g amet @l <hl e




Question 34.Which of the following is not a feature of a capitalist
economy?

Ffefaa | 9 onta-4t 'geiiard srifcgear & faivdr =81 8 ?
Options:

1) Right to private property

it i ot SrfgehR

2) Existence of competition

gfaafiar gi-m

3) Service motive

JaT-T e

4) Freedom of choice to consumers

SUHTRITSHT ehl AT hT Ta=Icll

Correct Answer: Service motive
SaT-TT
Candidate Answer: Service motive

TaT-ugtsT=

Question 35.Sunita Williams is a

gt faferam g s g 2
Options:

1) Astronaut

Siafer gt

2) Missile scientist
ERGIESACEIE]]

3) Nuclear scientist
Tif¥ehT d=fAen

4) Astro physicist

3idRer Wifae-fazmt
Correct Answer: Astronaut
Sfafer gt

Candidate Answer: Astronaut

3fafer aElt



Question 36.Who is the writer of the famous book 'Kabuliwala'?

QUG J&ich ' hIgeATaTell ' o olEeh ohi- g2
Options:

1) Bankim Chandra Chatterjee
Sifehd T TeSil

2) Ravindra Nath Tagore

faes 1Y &R

3) Munshi Prem Chand

gt un =<

4) Khan Abdul Gaffar Khan

QT 37sgel THAR &

Correct Answer: Ravindra Nath Tagore

fereg =Y &R

Candidate Answer: Munshi Prem Chand

gt ua <

Question 37.The term 'bully’ is connected with which sport ?

el 21eg o1 g AfeRed | 9 &hlF O Wel | foram Sirar g 2

Options:

1) Cricket
fohche

2) Hockey
glch!

3) Badminton
A=

4) Tennis
AL |

Correct Answer: Hockey

Candidate Answer: Hockey

glcht




Question 38.Who amongst the following Wrestlers has been the
recipient of the Rajiv Gandhi Khel Ratha Award?

ffeifaa | 9 foha ugetar ot 'Tsita e Dol 3T YREAR' i mam o7 2
Options:

1) Vijender Singh

ENEATT

2) Sushil Kumar

gafter pAR

3) Anand Kumar Singh

3T HAR &g

4) Zoravar Singh Faujdar

SIRTeR {8 Bisier

Correct Answer: Sushil Kumar
gefter pAR

Candidate Answer: Sushil Kumar

gefiter pAR
Question 39.Siderosis is a disease caused by the inhalation of

ATEHTdT Teh I g SI A1 & 1Y fA=failRed & @ om s o= @ glar 87
Options:

1) silica dust

fiferenT ¢fet

2) iron dust

SIERG

3) zinc dust

SSEEEIRG

4) coal dust

hITeT- e

Correct Answer: iron dust
olig-¢e

Candidate Answer: iron dust

ofte-4et



Question 40.The term "Doab" means

YIS ST RIT HAeTdl BIdT 87
Options:
1) a land between two mountains
&t udialt & e Y fy

2) a land between two lakes
& eftert a e ot oy

3) a land between two rivers

aﬁ&aﬁsaﬁaeﬁg&r

) a land between two seas
a’r T oh oI ol A
Correct Answer: a land between two rivers

&) At 3 fter bt Y

Candidate Answer: a land between two rivers

&) et 3 fter bt Y

Question 41.Which of the following is used as anaesthetics?

Ifeay o wu A Afafaa & I oar v fahar srar g 2
Options:

1N,

2) N,O

3) CHy

4) CO,
Correct Answer: N,O
Candidate Answer: N,O

Question 42.Clove is obtained from

oI foherd T gl § 2



Options:
1) Root
vis

2) Stem
GG

3) Leaves

i<

4) Flower buds

Toel <hl chedt

Correct Answer: Flower buds

Tl <hl chedt

Candidate Answer: Flower buds

Tl <hl hetl

Question 43.What is Dakshin Gangotri ?

feror Tt R 8 2
Options:

1) River valley in Andhra Pradesh
T8 o1 H AT 97t

2) Unmanned station located in Antarctica

3icrhieant 7 f¥a warfeld WA

3) Second source of River Ganga

TIAT <7< <hT SR &ld

4) Island in the Indian Ocean

WRAT 9= # [*¥a giu

Correct Answer: Unmanned station located in Antarctica
3icrhieent # f¥a warfeld WA

Candidate Answer: River valley in Andhra Pradesh

3= YT | AT °TéY

Question 44.Japan is called the 'Land of the rising sun' because

SO bl 'ofS 3Tt & SIS I &1 ahgl ST & ?



Options

) Sun rises there as soon as it sets
Wa’lﬁﬁr gaiey gl SiIdm 8
2) Sun always remains in the eastern part of the sky throughout the
day in Japan
SITaH # & sR g ST A gd feRm A g @t 8
3) Japan being the Eastern most country in the world, it has the
earliest sunrise
<ifeh STaT fRa § QT 291 2 o O & e oifen R W 2, 319 98T gEied
g9 Uget gidT &
4) The rays of the sun get reflected from the waters of the sea and
make the sunrise beautiful in Japan
T i foheut T o STt & Sruafdd gt e SITaT J galed ht e graX
T &t 8

Correct Answer: Japan being the Eastern most country in the world,
it has the earliest sunrise

Ifeh STTuT faea # QT 327 & S g H T Sifan 8R R 8, S1: 981 gaied
SERREE RTINS

Candidate Answer: Japan being the Eastern most country in the
world, it has the earliest sunrise

Gfeh SITuT faea # QT 327 8 S g A T Sifan 8R R 8§, S1: 981 gaied
SERREE RTINS

Question 45.Who was the first Englishman to appear in the Mughal
Court during Jahangir's reign?

STENIR o ehTel H H{ITel SRR H T ITell Ugell SHUST chi- T ?



Options:
1) Paul Canning
qief chf=it
2) Captain William Hawkins
e faferam gifeh
3) William Edward
faferay Tears
4) Ralph Fitch
I foh

Correct Answer: Captain William Hawkins

e faferas gifehg

Candidate Answer: Captain William Hawkins

e faferas gt

Question 46.The' Narmada Water Dispute Tribunal' was constituted
to resolve the water sharing between

forq T8+ forar mar a7 ?
Options:
1) Gujarat and Rajasthan

ORI 3R ST
2) Gujarat and Maharashtra

ORI 3R HERTSE

3) Gujarat, Maharashtra, Rajasthan and Madhya Pradesh
ORI, AERTSE, ISR 3R 7L Uesn

4) Gujarat and Daman and Diu

ORI 97 &9 3R &

Correct Answer: Gujarat, Maharashtra, Rajasthan and Madhya
Pradesh
TTORTd, HERTSE, ST 3R 7L U

Candidate Answer: Gujarat and Maharashtra

ORI 3R HERTSE




Question 47.In which way the President can assign any of the
functions of the Union Government to the State Government ?

Ui T TRPR bl ahis I i AT 7 @ fohg uepR 9, 750 TR
h! 919 Jahd § ?

Options:

1) In his discretion

3 faden 9

2) In consultation with the Chief Justice of India
YR oh {&T rATHIRT o R 9

3) In consultation with the Government of the State
Y TR I TRTHRT ich

4) In consultation with the State Governor
Y oh ISTUTe F TRTHRT hech

Correct Answer: In consultation with the Government of the State
5T TR Y URTAHLT ahech

Candidate Answer: In consultation with the State Governor
IS oh ISUTA O TRTHR] Shidch

Question 48.Where is the Indian National Rail Museum situated?

AT IeT TSI’ hel AT & ?
Options:
1) Delhi
feeet
2) Uttar Pradesh
IR el
3) Punjab
CSIC)
4) Himachal Pradesh
fgaTaet uear

Correct Answer: Delhi

feett
Candidate Answer: [ NOT ANSWERED ]



Question 49.Which of the following is not true about Ajanta Caves?

Ffofad & @ o srer=1 st & ey | 9gl gl 82
Options:

1) They are in Maharashtra

d AgRIe § AT 8

2) They are decorated with Buddhist Art

4§l hell 9 TfSSTd 8

3) They depict the techniques used in Ancient India
d U Rd H Uad deh-ienl ot &l &

4) They do not contain paintings of flora and fauna
37 gper-uferat & Rt i &

Correct Answer: They depict the techniques used in Ancient India

d UTEH YRA | U deh-ichl <hl GRATdT &

Candidate Answer: They depict the techniques used in Ancient India

d Ui R H Uad deh-ienl ot &l &

Question 50.Who was the founder of Arya Samaj?

IT-FHTST oh TLATUh i & ?
Options:

1) Acharya Narendra Dev
R % &a

2) Dayanand Saraswati
22| &

3) Raja Ram Mohan Roy
TS IH AlgA I

4) Acharya Vinoba Bhave
NIGIRCEICIRRIC]

Correct Answer: Dayanand Saraswati

A< JR&dl

Candidate Answer: Dayanand Saraswati

U< IR&dl



Question 51.A, B and C can work together for Rs. 550/- A and B
together are to do 7/11 of the work. The share of C should be?

AB 3R C fActer: fohdt M apt Rs. 550 ® QRT od 81 A 37 B ol fAieta
ohTH <Rl 7/171 | QRT &hAT &1 C AT fg & e giamm 2

Options:

1) Rs. 200

2) Rs. 300
3) Rs. 400

4) Rs. 450
Correct Answer: Rs. 200
Candidate Answer: Rs. 200

Question 52.In A ABC, the height CD intersects AB at D. The
midpoints of AB and BC are P and Q respectively. If AD = 8 cm and
CD = 6 cm, then the length of PQ is?

A ABC #, 3318 CD, AB ht D WR @il g1 AB 3R BC o A fa=g shHl: P
3R QEIafc AD =87 3R CD =6 T.H. g, al PQ i =g T § ?
Options:

1) 3cm

3.4

2) 7cm

7 Q.

3)9cm

0 9.4

4) 5cm

5 9.4,

Correct Answer: 5¢cm

53.4.

Candidate Answer: 3 cm

3 4.,



Question 53.The price of a chair is Rs. 500. It has been sold at two
succesive discounts of 10% each. What is its selling price?

Teh i bl hiFd Rs. 500 &1 38 10% bl &Y ShATT 3l TR <1 TRIT| SHHI
fasra qea R g ?

Options:

1) Rs. 400

2) Rs. 405
3) Rs. 415

4) Rs. 425
Correct Answer: Rs. 405
Candidate Answer: Rs. 405

Question 54.The percent profit made when an article is sold for Rs.
78 is twice as much as when it is sold for Rs. 69, the cost price of the
article is?

STd ohl$ a¥] Rs. 78 H St STt € dt SHehT o1H IHT g% bl Rs. 69 H dITd W)
I ATl AT T QAT & | I T NTd Hed T & ?

Options:
1) Rs. 60

2) Rs. 51
3) Rs. 55.50

4) Rs. 70
Correct Answer: Rs. 60
Candidate Answer: Rs. 60



Question 55.In a Village panchayat society 574 names are enlisted as
'below poverty level'. If 14% of the villagers are below poverty level,
the total number of villagers is?

Qeh UTH UaTad ST § 574 A0 “TRie @1 O i &t =it 7 nfier &1 afe
Tid & 14% ART TR RaT & = 8, @ 71iq aredl it et T fhat g ?
Options:

1) 4100

2) 4200
3) 4000

4) 3800
Correct Answer: 4100
Candidate Answer: 4100

Question 56.A train 240 meters in length crosses a telegraph post in
16 seconds. The speed of the train is?

240 HY. ¥l ¢ Teh STIUTHh WH ht 16 YhUs H UR &hdl g1 ¢ i 1fd
fohat 82

Options:

1) 50 Km/hr

50 foh.Ht./ger

2) 52 Km/hr
52 foh. =Y. /ger
3) 54 Km/hr
54 foh =t /ger
4) 56 Km/hr
56 fon.Ht./der

Correct Answer: 54 Km/hr
54 for. =Y. /gar

Candidate Answer: 54 Km/hr
54 for. =Y. /gar



Question 57.1f a%+1 = a, then the value of adis

gfc a2+l =ag dlaS A ATE ?

Options:
1)0

2) 1
3) -1
4) 2

Correct Answer: -1
Candidate Answer: -1

Question 58.

X2
Ifx+ 3y = —3x +y,then 2_y2 is equal to

aﬁx+3y:—33+}rfﬁ', ar ;—B;W AT Fd7]

Options:
1) %

2) ¥
3) %
4) 4

Correct Answer: s
Candidate Answer: %



Question 59.From an external point two tangents to a circle are
drawn. The chord passing through the points of contact subtends an
angle72° at the centre. The angle between the tangents is?

Qe A1t faimg & fohelt gea oht &t Tusf R@ridi= 718 & | Hudh fawgsi § gle
TSR dTell STiaT 72° hiv] bl dhg TR HATARA hdl g1 TRl @131l h o< eplor
fohd= |19 1 BT 2

Options:

1) 36°

2) 72°
3) 108°

4) 144°
Correct Answer: 108°
Candidate Answer: 108°

Question 60.Length of three line segments isgiven. Is construction of
a triangle possible with the segments in the given cases?

d1H 8 WUt i orwag €1 1 81 fohe fRAfa # @uet § Bogst o1 fAwior g
g7

Options:

1) 8 cm,7cm, 18 cm

g @A, 7 4.4, 18 9.H.

2) 8cm,15¢cm, 17 cm
8 q.dr, 1534}, 17 4.0t

3) 10 cm, 6 cm, 4 cm

10 9.4t 6 9.1, 4 QA

4) 8 cm, 10 cm, 20 cm
8 Q.4t., 10 9.4, 20 4.4t

Correct Answer: 8cm, 15cm, 17 cm

g @A, 154.41, 17 9.4l



Candidate Answer: 8 cm, 15cm, 17 cm

8 QAL 15 9.l 17 9.Hl.

Question 61.If sinB+ cosecB=2, then the value of sin"/6 + cosec’6 is

gfe sinB+ cosecO=2 g al sin"/0 + cosec’O T AT RITE ?
Options:

Correct Answer: 2
Candidate Answer: 2

Question 62.A man has some hens and some cows. If the total
number of heads of hens and cows together is 50 and the nunber of
feet of hens and cows together is 142, then the number of cows is

Tah STGHT o U o JiRT ofk o8 T &1 afe gRfa ofk T & Rt fr e
&A1 50 g SR gRt gd Tt o ORi bl HE&AT 142 g, dt Tt <hl e fohd=t
g7

Options:

1) 21

4) 29
Correct Answer: 21



Candidate Answer: 21

Question 63.In a class, average height of all students is 'a’ cms.
Among them, average height of 10 students is 'b' cms and the
average height of the remaining students is 'c' cms. Find the number
of students in the class. (Here a>c and b>c)

ford! chetr & ol B hl 3Tfad T8 'a' .11, g1 399 I 10 ST bl 3 ad
oaTs 'b' T4, g 3R AW BEN ahl 3G oars 'c' . 4t &1 hem d SHE
G T hifSig ?

Options:

1)

(a(b—c))/{a—c)

2)

((b—e))/((a—c))

3)

(b—c)/(10(a—c))

4)

(10(b—c))/(a—c)

Correct Answer:
(10(b—c))/{a—c)

Candidate Answer:

(10(b—c))/(a—c)

Question 64.

The simplified value of
37 5v5 V2,

= e = r— =]

- — is
VW2 24T T +45

3 \,-',? 5 \,"g 2 \."E
e Ve Vi

T {7

&I Telled Al



Options:
1)0

2) 1
3)5
4) 6

Correct Answer: O
Candidate Answer: 0

Question 65.If (a+b-6)2 + a2+b2+1+2b = 2ab+2a, then the value of a is

gfe (a+b-6)2 + a2+b2+1+2b = 2ab+2a &, af a &1 A9 T &?

Options:
1)7

2) 6
3) 3.5

4)2.5
Correct Answer: 3.5
Candidate Answer: 3.5

Question 66.Two circles of radii 17 cm and 8 cm are concentric. The
length of a chord of greater circle which touches the smaller circle is

17 410, 3R 8 .1, Biour aret @ ged THeh &1 B2 Jed ol W A ATy
52 ged 1 ST e 2 2



Options:
1) 15cm
15 9.4,

2) 16 cm
16 T,

3) 30 cm
30 4.4t

4) 34 cm
34 QA

Correct Answer: 30 cm

30 9.H.

Candidate Answer: 30 cm

30 9.H.

Question 67.The least six digit number which is a perfect square is

G BI] B 3ich! dTell I8 hi--Hl §&AT 8 STt gui a9 g 2
Options:
1) 100489

2) 100000
3) 100256

4) 100225
Correct Answer: 100489
Candidate Answer: 100489

Question 68.The percentage change of a number when it is first
decreased by 10% and then increased by 10% is

STe fehdt T<=AT oht Uget 10% G SITdT & iR fthe 10% F/™T SIdT § df, 39
T3 H fohaw ufaerd ufkad=r g 2



Options:
1) 0.1 % increase

0.1% gl

2) 1 % decrease

1 % chHl

3) 0.1 % decrease

0.1 % ahHt

4) No changes

<hlg TRac gl

Correct Answer: 1 % decrease

1 % el

Candidate Answer: 1 % decrease

1 % el

Question 69.

Find the angular elevation of the Sum when the shadow of a 15m
long pole is 1—: metres
h

fore WAT 15 moFd G o ST - mr
39 WA T & PO Sewtdel AT BT

Options:
1) 45°

2) 60°
3) 30°
4) 90°

Correct Answer: 60°
Candidate Answer: 60°



Question 70.If 2y cosB = x sinB and 2x secB - y cosecb = 3 then what
is the value of x2 + 4y2 ?

gf 2y cosB = x sind 3R 2x sech - y cosech = 3 at x2 + 4y2 T AT T &
?

Options:
1) 4

2) 1
3) 2
4)5

Correct Answer: 4
Candidate Answer: 4

Question 71.The difference between compound interest and simple
interest on an amount of Rs. 15,000 for 2 years is Rs. 96. The rate of
interest per annum is?

Rs. 15,000 bl A WR 2 I & Ashgleq ATST 3R LR TSl o &g Rs.96
hT 3R g | Ttich ST &< fohat gl ?

Options:

1) 6%

2) 7%

3) 8%

4) 9%

Correct Answer: 8%

Candidate Answer: 8%



Question 72.In the given Pie-chart, the comparative study of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

T Tq urg-aré # &21 7 9rad, 1, I 3R 919 o ITE I gD
31 fohar T g1 fAafaifed g & IR U1k ot Ugae SIS |

WHEAT
30%

55%

5%
TEA

From this diagram, the ratio of sum of wheat and sugar production to
difference in production of rice and tea is

3 3R oh AJAR g 3R T eh el IUTEA IUT T IR AR oh ITe
ok 3= <Rl 31IUTd fohdAT 8 2

Options:
1) 4:5

4) 1:6
Correct Answer: 4:5
Candidate Answer: 4:5



Question 73.In the given Pie-chart, the comparative study of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

T Tq urg-aré # &21 7 9rad, 1, I 3R 919 o ITE I gD
31 fohar T g1 fAafaifed g & IR U1k ot Ugae SIS |

WHEAT
30%

55%

5%
TEA

The production of rice and tea is more/greater than production of
wheat by-

Tl 3R T ehT IUTe 1Ig h It Y feha=1 Sa1er g 2
Options:

1) 50%

2) 100%

3) 75%

4) 66.6%

Correct Answer: 100%

Candidate Answer: 100%



Question 74.In the given Pie-chart, the comparative study of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

T Tq urg-aré # &21 7 9rad, 1, I 3R 919 o ITE I gD
31 fohar T g1 fAafaifed g & IR U1k ot Ugae SIS |

WHEAT
30%

55%

5%
TEA

The Central angle of Wheat % is

T % Bl A& hivT fohaat fSft h1 8 2

Options:
1) 48°

2) 98°
3)110°
4) 108°

Correct Answer: 108°
Candidate Answer: 108°



Question 75.In the given Pie-chart, the comparative study of the
production of Rice, Wheat, Sugar and Tea of a country is given. Study
the Pie-Chart and answer the following questions.

T Tq urg-aré # &21 7 9rad, 1, I 3R 919 o ITE I gD
31 fohar T g1 fAafaifed g & IR U1k ot Ugae SIS |

WHEAT
30%

55%

5%
TEA

The total production of Rice, Wheat, sugar and Tea (In Kgs) is 500000
Kgs. The production of Rice in the country is

argd, g, A1 SR AT T el IaTe-T 500000 fob. T, 81 &1 | ATl Al
JcdTe fehaHr g2

Options:

1) 175000 Kg

175000 fos.Tm.

2) 395000 kg

395000 fos.am.

3) 275000 Kg

275000 fer.a.

4) 27500 Kg
27500 for.amm.

Correct Answer: 275000 Kg
275000 fes.7m.

Candidate Answer: 27500 Kg
27500 fer.m.



Question 76.In the following question, out of the four alternatives,
choose the word which best expresses the meaning of the given
word and click the button corresponding to it.

CONTRABAND
Options:

1) BURGLED
2) SMUGGLED
3) BAFFLED

4) JUGGLED

Correct Answer: SMUGGLED
Candidate Answer: JUGGLED

Question 77.In the following question, out of the four alternatives,
choose the word which is opposite in meaning to the given word and
click the button corresponding to it.

LENIENT
Options:

1) STRICT

2) SOLID

3) FORGIVING
4) STOIC

Correct Answer: STRICT
Candidate Answer: STRICT

Question 78.Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word and click the button
corresponding to it.

Options:

1) Scarety

2) Scarcity

3) Scarsity

4) Scarecity

Correct Answer: Scarcity

Candidate Answer: Scarcity



Question 79.In the following questions, one part of the sentence may
have an error. Find out which part of the sentence has an error and
click the button corresponding to it. If the sentence is free from error,
click the "No error" option.

He was(A) / very kind enough (B) / to invite me (C) / No Error(D).
Options:

1) A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may
have an error. Find out which part of the sentence has an error and
click the button corresponding to it. If the sentence is free from error,
click the "No error” option.

Police reports claim that (A) / substantial seizure of cocaine have
been made(B) / in the last two months.(C) /No Error(D).

Options:

1) A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A



Question 81.In the following questions, one part of the sentence may
have an error. Find out which part of the sentence has an error and
click the button corresponding to it. If the sentence is free from error,
click the "No error" option.

Every conceivable race and nationality(A) / had its shared of
suffering(B) / in the world wars (C)/No Error(D).

Options:

1) A

2) B

3)C

4) D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an
appropriate word(s). Four alternatives are suggested for each
qguestion. For each question, choose the correct alternative and click
the button corresponding to it.

She him angrily because he made the floor dirty with his
muddy shoes.

Options:

1) scold

2) scolds

3) scolded

4) scolding

Correct Answer: scolded

Candidate Answer: scolded




Question 83.The sentences given with blanks are to be filled with an
appropriate word(s). Four alternatives are suggested for each
question. For each question, choose the correct alternative and click
the button corresponding to it.

He walked along the road wondering what happened and
where all the people had gone.

Options:

1) had

2) has

3) have

4) it

Correct Answer: had

Candidate Answer: had

Question 84.The sentences given with blanks are to be filled with an
appropriate word(s). Four alternatives are suggested for each
question. For each question, choose the correct alternative and click
the button corresponding to it.

The criminal was lest he should escape.
Options:

1) fetid

2) fettered

3) fettled

4) feted

Correct Answer: fettered
Candidate Answer: fettered

Question 85.In each of the questions, four alternatives are given for
the Idiom/Phrase. Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button corresponding to
it.

Drive home



Options:

1) Find one's roots

2) Emphasise

3) Refer

4) Draw

Correct Answer: Emphasise

Candidate Answer: Find one's roots

Question 86.In each of the questions, four alternatives are given for
the Idiom/Phrase. Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button corresponding to
it.

To end in smoke

Options:

1) End without any practical result

2) End with positive result

3) Die in a burning house

4) Risk everything in a single venture

Correct Answer: End without any practical result
Candidate Answer: End without any practical result

Question 87.In each of the questions, four alternatives are given for
the Idiom/Phrase. Choose the alternative which best expresses the
meaning of the Idiom/Phrase and click the button corresponding to
it.

A left handed compliment
Options:

1) A subtle rebuke

2) Wholesome praise

3) An ambiguous compliment
4) A mild compliment

Correct Answer: An ambiguous compliment
Candidate Answer: A subtle rebuke



Question 88.0ut of the four alternatives, choose the one which can
be substituted for the given words/sentences and click the button
corresponding to it.

Experts who scientifically study insects
Options:

1) Gerontologists

2) Pathologists

3) Entomologists

4) Ornithologists

Correct Answer: Entomologists
Candidate Answer: Entomologists

Question 89.0ut of the four alternatives, choose the one which can
be substituted for the given words/sentences and click the button
corresponding to it.

One who pretends to be what he is not
Options:

1) Hypocrite

2) Pessimist

3) Optimist

4) Infallible

Correct Answer: Hypocrite

Candidate Answer: Infallible

Question 90.0ut of the four alternatives, choose the one which can
be substituted for the given words/sentences and click the button
corresponding to it.

A paper/story/poem first written out by hand
Options:

1) Handicraft

2) Manuscript

3) Handiwork

4) Thesis



Correct Answer: Manuscript
Candidate Answer: Manuscript

Question 91.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

The interview came alive by satellite from Hollywood
Options:

1) came as live

2) came live

3) came up live

4) No improvement

Correct Answer: came live

Candidate Answer: came up live

Question 92.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

There was little he could do to save his battered reputation
Options:

1) salvage

2) wreck

3) destroy

4) No improvement

Correct Answer: salvage

Candidate Answer: No improvement



Question 93.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

It is_much too important to be made a joke of
Options:

1) too much important

2) too many important

3) very much important

4) No improvement

Correct Answer: No improvement

Candidate Answer: very much important

Question 94.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

If he wants farther help, send him to me
Options:

1) further

2) much

3) best

4) No improvement

Correct Answer: further
Candidate Answer: further



Question 95.A sentence/a part of the sentence is underlined. Four
alternatives are given to the underlined part which will improve the
sentence. Choose the correct alternative and click the button
corresponding to it. In case no improvement is needed, click the
button corresponding to "No improvement”.

He jumped on the lake
Options:

1) in the

2) into the

3) onto the

4) No improvement
Correct Answer: into the
Candidate Answer: into the

Question 96.A passage is given with 5 questions following it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

Mandarin Chinese is spoken by people.



Options:

1) little

2) few

3) many

4) big

Correct Answer: many
Candidate Answer: many

Question 97.A passage is given with 5 questions following it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

A person who is good at foreign languages is known as
Options:

1) Virtuoso

2) Linguist

3) Ventriloquist

4) Scholar

Correct Answer: Linguist

Candidate Answer: Linguist



Question 98.A passage is given with 5 questions following it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

are regional variations of a language
Options:

1) English

2) Mandarin Chinese

3) Home language

4) Dialects

Correct Answer: Dialects
Candidate Answer: Dialects




Question 99.A passage is given with 5 questions following it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

English also included French words
Options:

1) after

2) prior

3) before

4) during

Correct Answer: after

Candidate Answer: after

the Norman Conquest




Question 100.A passage is given with 5 questions following it. Read
the passage carefully and choose the best answer to each question
out of the four alternatives and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin
Chinese and English, are spoken by millions. Many people speak two
or more languages. They may use one language at home with family
and friends, and another at work or school. Regional variations of
language are known as dialects. The Anglo-Saxons, who conquered
Britain at the end of the Roman Empire, spoke a Germanic language,
which later became English. Other Germanic languages include
Danish, Dutch, German and Swedish. English also contains French-
derived words after it was ruled by French-speaking kings following
the Norman Conquest.

is part of a Germanic language.
Options:

1) Britain

2) Anglo-Saxons

3) English

4) Roman Empire

Correct Answer: English

Candidate Answer: Anglo-Saxons
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